TEST FOR FUNCTIONARIES

At the end of the test, all correct answers will be given to you.
1. The population of our country is growing at which of the following rates?

0.5% 1% 2% 3% 4%

2. The population growing at this rate will double in size in how many years?
15 years 24 years 36 years 50 years

3. If the birth rate of 50 per 1,000 is cut in half to 25 per 1,000 today, how long would it take
for the population to double with a death rate of 5 per 1,000?

33years _~ 60years _ 80years __ 100 years
4. If the average family size were 2.5 children today, what would the population be in 70 years?
35 million _ 50million 60 million 80 million
5. The completed family size in this country today is:
43children _ 54children __ 6.0children 6.7 children
6. The educated have more or less children than the uneducated?
The educated have more children _ The educated have less children
7. Most couples know exactly how many children they want.
True _ False

8. From a recent survey, how many women said they did not want their last pregnancy?

5% 10% 25% 40%
9. What percent of the men and women approve of family planning?
50% 70% 85% 90%

10. Women and men who do not want anymore children and their youngest child is 2 years old
should be encouraged to accept which method of family planning?

Oral pill IUD Condom Vasectomy or Tubectomy
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11. Most women who go to the clinic prefer to take the pill, but after one year, how many women
stop taking the pill?

10% 30% 50% 80% 90%
12. Which contraceptive method do women continue using the longest?
Oral pill IUD Injectables Subdermal Implants

13. If 100 women accept the 1UD, after one year how many of these women will become
pregnant?

0-1 2-3 4-6 7-8 9+

14. If 100 women accept the 1UD, after one year, how many women will have the
IUD removed because of side effects?

0-5% 5-10% 10 - 15% 15 -20% 20 — 30%
15. What changes occur in a man who has had a vasectomy?

He loses his sex drive

The fluids during the sex act are no longer emitted
He becomes fat

His voice goes higher

None of these things happen

16. A woman who has a tubectomy has which of the following reactions?

She no longer has a period
She is not interested in sex
She is likely to become fat
None of these changes occur

17. A person who recruits a new acceptor is paid how much for these services?
For a sterilization acceptor
IUD acceptor
One cycle of pills distributed
For each condom

18. What percentage of women coming to family planning clinics do not want any more
children?

15% 30% 50% 85%
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3%

24 years

33 years

60 million

6.7 children

Educated have less children
False

40%

85%

. Vasectomy or tubectomy

. 80%

. 1UD

.1-3

.10 to 15%

. None of these things happen
16.
17.
18.

None of these changes occur
for sterilization, for IUD, 1 cycle of pills for
85%

., and

per condom



